
Answers to Even Exercises, Homework Set 2

Section 9.4 #4 (a) 6, (b) the x-component is positive, the y-component is nega-

tive, and the z-componenet is zero
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#8 ~a ×~b =< 2,−14, 1 >, since < 2,−14, 1 > · < 5, 1, 4 >= 0, ~a is

perpindicular to ~a ×~b, similarily ~b is perpindicular to ~a ×~b

#12 ~a ×~b =< 2,−1, 1 >

#16 area =
√

152 + 40 ≈ 16.28

Section 9.5 #14 a) x = 2t+5, y = −t+1, z = t b) (0, 7/2,−5/2),

(7, 0, 1), (5, 1, 0)

#16 x = −5t + 10, y = 3t + 3, z = −4t + 1, with 0 ≤ t ≤ 1

#18 They are not parallel and do not intersect, so they are skew

# 2

#22 y + 2z = −6

#30 3x + 3y + 3z = 12

#40 a) (2, 0, 2), b) x + y = 2



Section 9.6 # 2 III

# 6 The domain is the set of all (x, y) with xy ≥ 0, so it is the first

and third quadrant of the x−y plane, including the x and y axes.
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#24

Section 9.7 #14 Θ = π/3 is the plane that goes through (0, 0, 0), is perpindicular

to the x − y plane and contains the line z = 0, Θ = π/3 in the

x − y plane.

#16 Cylinder of radius 2 around the z-axis

#32 a) 14.5 ≤ ρ ≤ 15 b) 14.5 ≤ ρ ≤ 15 and 0 ≤ Θ ≤ π is one

possible answer


